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This paper is divided into two Sections. The intended marks for questions or parts of question are given in brackets [ ].

Section A

a. Why class is called as reference datatype? Explain your view with  suitable example.

b. What is the practical use to overload the constructor?

c. Explain with the example the problem of “dangling else”. How can we overcome this?

[4+2+4]

d. What is NumberFormatException? Present a suitable example

e. Are there any demerits of array? If so, write briefly 

f. For initial value of a=4, b= -3, c=0, what will be the value of the x in following expressions, if they took place successively?

i. x = a+ b++ + --c +++b –c++

ii. x += ++b +++a +- -c+ a

g. What is wrapper class? Mention name of any two wrapper class


[2+2+4+2]

h. Mention the use of ‘static’ keyword.

i. How keyword ‘throw’ and ‘throws’ are different?

j. Identify and correct the error in the following lines of code:

String s1=”hello”;

String s2=s1.reverse();

System.out.println(s2);












[2+4+4]

k. Explain the significance of java bytecode.

l. Write a code segment to declare an integer array of size 5 and initialize with first five even numbers using a ‘for’ loop.

m. Explain the significance of ‘try’ block in exception handling? Which block must be present after that. Also mention the use of ‘finally’ block.

[2+4+4] 

Section B

Attempt any five questions from this section. Each program carries 12 marks. Each program should be written using variable descriptions /mnemonic codes such that the logic of the program is clearly depicted.

2. Input two words and find out the set that will be formed by the intersection of the characters found in both the string.


[15]

e.g; Input 1 : DISARI

        Input 2 :
HALDIA

        Output will come as : {D,I,A}

3. Input a word and print the string after ignoring repeating characters (take only first occurrence of each character only)








[15]

e.g;
Input : HARIANA


Output : HARIN

4. Using java.io; input a word from the user, then print the following pattern based on the given word.










            [15]

e.g; Given input : PATTERN


        Output : P  A T T E R N




   A T T E R N 




      T T E R N

          T E R N


 E R N


    R N


        N

5. Input a number from the user and check whether it is perfect square or not. If not, find next possible perfect square number and print the same. If input is 67, the output should be 81, where as there will be no change in output if input is 49 since it is a perfect square        [15]

6. Input two numbers from the user and check whether they are successive prime numbers are not. Successive prime numbers are two prime which doesn’t contain any further prime in between them. 

e.g ; Numbers 11 and 19 are not successive prime since there are other prime numbers in between them, where are 11 and 13 are successive prime numbers. The program should contain a function isprime(int n) to return a prime number. May use the concept of recursion to check the same.









[15]

7.  input a number and generate another on the basis of the first after replacing repeating digits by zero (0), violate this rule for first digit of the number, i.e, if starting digit falls under repetition, the digit must take place.








[15]

e.g;          input : 15615236


    output : 10000230

(Logit, ‘1’ is repeated for 2 times, so ‘0’ comes there(except first position), similarly 2 zeros are present in place of two ‘5’ and two more zeros for two ‘6’) 
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